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i A =  HEA + s
(1EBE)% 4 BXRESGKR 99,558 = 40,000 + 59,558
(1EIE) A% LBEHRATLY—ER M) 95,171 = 40,000 + 55,171
(TEBE)FEFL E2ZVJa—i3arv @) 99,141 = 40,000 + 59,141
(1EB)FR%EIL BERTZAE—ITLEH) 97,818 = 40,000 + 57,818
@ fEHE= (100,000 £ % &)
i = ERAOES x (1 - AR FEMER
(AL LB i)
(1EB)%E 4 BXREXGR 57,528.035 -+ = 100000 x ( 1 — 157,000,000 + 369,655,613 )
(1EIE)A%EH, LBEHRATLHY—ER(HE) 56,986.991 --- 100,000 x ( 1 — 159,000,000 =+ 369,655,613 )
(TEBE)FEIL H2VJa—i3ar @) 35345226 -+ = 100000 x ( 1 — 239,000,000 + 369,655,613 )
(TEIE)A%EIL BERT7A-E—-ITL(*) — = 100000 x ( 1 =— iR = 369,655,613 )
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i S A+ A
(1EIB)%E 4 BAREIHR) 157,086.035 --- = 99,558 + 57,528.035 ---
(1EIE)FAZEF LEBEHRRTLHY—ER ) 152,157.991 95171 + 56,986.991 ---
(1EIB)FEI HHzVa—av () 134,486.226 - 99,141 + 35345.226 ---
(1EB)F%EIL BEATZAE—ITLEHR) — = 97,818 + —




